SOCIOLOGY TYBA PAPER 4
MODEL QUESTION PAPER

Q1. Which of the following intellectual factor is responsible for rise of
sociology?

A. Industrial Revolution

B.French Revolution

C.Globalization Process

D.The enlightenment
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Q2. There is a very strong similarity between the ideas of these thinkers.

A.SaintSimon-August Comte
B.Max Weber- Herbert Spencer
C. Karl Marx- V. Pareto

D. Rolf Dahrendarf- Talcott Parsons
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Q3. Who among the following has classified society as Militant Society and
Industrial Society ?

A. Max Weber

Herbert Spencer

Emile Durkheim
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Karl Marx
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Q4. Who considers religion as the opium of the masses?
A. Max weber

B. E. Durkheim

C. Karl Marx

D. A. Comte
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Q5. R.K. Merton was a Sociologist .

a. Russian

b. French



c. American

d.  German
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Q6. Manifest functions are those which are

a. Intended

b. Indirect

C. Open

d. arbitary
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Q7. When was Jurgen Habermas born ?

a. 16 June 1929

b. 16 June 1931
c. 20 September 1930

d. 24 July 1925
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Q8. The development of Structuration theory began from
Constitution of Society

Holy Family

Social Science

Economy
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Q9. Gramsci wrote articles for Newspaper.

a. Socialist

b. Hindi
C. Marathi

d. German
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10 . died of an AIDS - related illness in Paris
on 25 th June 1984.




a. Foucault
b. Weber
c. Marx

d. Durkheim
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